INSTALLATION

POLE MOUNT BRACKET SDPA001v2

CONTENTS

1. POLE MOUNT BRACKET 1EA
2. SUS BAND 3EA

3. M10 BOLT & NUT 4EA

4. MANUAL 1EA

A. Install on a Wall mount Bracket

a—1. Fix the wanted bracket on the pole mount bracket with 4 ea of M10 BOLT
before you install the pole mount bracket. (FIG.1)
a—-2. Tie the bracket with SUS BAND tightly. (FIG.2)

\NOTE% Wall mount bracket use an inside hole of pole mount. (136%215.6)
7 ‘

POLE MOUNT BRACKET

SUS BAND

B. Install on a junction Box

b-1. Fix the wanted bracket on the pole mount bracket with 4 ea of M10 BOLT
before you install the pole mount bracket. (FIG.3)
b-2. Tie the bracket with SUS BAND tightly. (FIG.4)

\NOTE ‘( Junction Box use an outside hole of pole mount. (186.8%256.8)

M10 BOLT POLE MOUNT BRACKET SUS BAND
~
=y \
g =
B : JI :
© 0 - '
1,]7_:
a4 = of ||
— DEMENSION
’\/[;;0
& &
(265.86)
280
15 17 } 186.8
o 136 . 8- ®11hole
g,
D ) . o ‘
" S R ‘
[ 5 @ © o
S s o S
' N & ™
O R o
) - o
UNITS:mm




